
®

     

23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180, Fax. 714.692.5016  
 

www.cobrausa.com  

11/08
  ®

 

 

*Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under  

 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safel y. 

Items Supplied > 

1 – Left Saddlebag Support 
1 – Right Saddlebag Support 
2 – 8mm x 45mm Button Head Bolts 
2 – 8mm x 50mm Button Head Bolts 
2 – Thick Spacer 

2 – Thin Spacer 

Application(s) > 

Yamaha RoadLiner 06-14 

Instruction Manual > 

Your saddlebag supports will install in just a few minutes using common tools.  Read all instructions 

carefully and completely before installing your new saddlebag supports. 

1. Remove the (2) left M8 bolts from fender support / rear fender and discard.  Insert one of the longer supplied M8 

bolts through the front mount of the saddlebag support (short leg of support forward), supplied thick spacer, and 

into fender rail / fender.  Insert one of the shorter supplied M8 bolts through rear mount of support, thin spacer 

and into rear fender support / fender and snug tight.  Repeat on the right side. 

2. Torque bolts to factory specifications. 

 02-6260 

DOCUMENT NO.  0019 REV. A 



®

     

23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180, Fax. 714.692.5016  
 

www.cobrausa.com  

11/08
  ®

 

 

*Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under 

 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

1 – Left Saddlebag Support 
1 – Right Saddlebag Support 
2 – 8mm x 45mm Button Head Bolts 
2 – 8mm x 50mm Button Head Bolts 
2 – Thick Spacer 
2 – Thin Spacer 

Application(s) > 

Yamaha RoadLiner 06-14 

Instruction Manual > 

Your saddlebag supports will install in just a few minutes using common tools.  Read all instructions 

carefully and completely before installing your new saddlebag supports. 

1. Remove the (2) left M8 bolts from fender support / rear fender and discard.  Insert one of the longer supplied  M8 

bolts through the front mount of the saddlebag support (short leg of support forward), supplied thick spacer, and 

into fender rail / fender.  Insert one of the shorter supplied M8 bolts through rear mount of support, thin spacer 

and into rear fender support / fender and snug tight.  Repeat on the right side. 

2. Torque bolts to factory specifications. 

 02-6260 

DOCUMENT NO.  0019 REV. A 


